thS oA AD//BC 91 AFtha]lZE ABCD o4 H M, N o] AB ¢}
CD 9 $4< uff, AD 9] Zo|=?

@ 4cm @ 6cm (@)&:m @ 10cm ® 1lcm




1) AA BH& (2) SAS &

1) SSS &+ (2) SAS &=

(
(
(1) SSS &3 (2) SSS F+
(1) SAS &< (2) AA TS
(

1) AA 52 (2) AA B

~&B

(1) AABC &} AAED oA /A & 3%, /ACB = /ADE = 40°

SAA B2

(2) AABC 9} AACD ©f|A4 /ABC = /ACD = 90°
AB:AC=3:5

m;c—nzs;‘%o:g:s

- SAS &&




3.

the 1ol A DE//BC , BE//FC, AD : DB = 3: 2 < ©f, AD :
DB : BF ] #2?

A
D E
B
C
F
D 3:2:5 @ 3:2:6 ® 6:4:9
@ 9:6:8 ®)9:6:10

. 3 __ 9
AD: DB=3 : ZO]E_E._ADZEAB,DBZgAB
DF//BC o|n2 AF: BC—AD: DB=3 : 2
BE//FCo|E2 AB: BF=AE: EC=3 : 2

o
F=_-AB
3

- AD: B:ﬁ:%ﬁ:—AB:
3
5
9




